
https://www.pass4itsure.com/s90-02.html
2024 Latest pass4itsure S90.02 PDF and VCE dumps Download

 

 

 

S90.02Q&As

SOA Technology Concepts

Pass SOA S90.02 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/s90-02.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by SOA Official
Exam Center

 

 

Latest S90.02 Dumps | S90.02 PDF Dumps | S90.02 Exam Questions                                1 / 3

https://www.pass4itsure.com/s90-02.html
https://www.pass4itsure.com/s90-02.html
https://www.pass4itsure.com/s90-02.html


https://www.pass4itsure.com/s90-02.html
2024 Latest pass4itsure S90.02 PDF and VCE dumps Download

QUESTION 1

Which of the following statements is true? Select the correct answer. 

A. WS-ReliableMessaging establishes a framework that provides an industry-standard means of transforming XML
schema-based data models. 

B. WS-ReliableMessaging establishes a framework that provides an industry-standard means of rolling back changes
that occur during a runtime service transaction. 

C. WS-ReliableMessaging establishes a framework that provides an industry-standard means of reliably communicating
policy enforcement rules. 

D. None of these statements are true. 

Correct Answer: D 

 

QUESTION 2

Which of the following statements is false? Select the correct answer. 

A. Multiple XML documents can link to the same XML schema. 

B. One XML document can link to multiple XML schemas. 

C. XML schemas cannot be embedded within XML documents. 

D. XML schemas can exist as separate files. 

Correct Answer: C 

 

QUESTION 3

A namespace can be considered a form of: Select the correct answer. 

A. unique identifier 

B. redundant identifier 

C. duplicate identifier 

D. Namespaces are not identifiers; they are always pre-defined values that we are required to work with. 

Correct Answer: A 

 

QUESTION 4

Which of the following statements makes sense? Select the correct answer. 
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A. I have 3 REST services, 2 of which do not support the PUT method. 

B. I have 3 REST services, 2 of which have a PUT operation in the SOAP header schemas of their WSDL definitions. 

C. I have 3 REST services, 2 of which do not support HTTP. 

D. None of these statements make sense. 

Correct Answer: A 

 

QUESTION 5

Most industry-standard WS-* features are designed to be implemented as: Select the correct answer. 

A. WSDL operations 

B. WS-BPEL definitions 

C. SOAP headers 

D. HTTP headers 

Correct Answer: C 
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